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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
1 34 0,1 — — — 10C3 60 0,7 | 22 24 330 2 CPB BiaMupaHHs Ta BCHXaHHS JIEpEB 25
I 35 0,4 — — 7C32131JIna 100 0,55 1 30 44 310 2 CPB BiaMHpaHHS Ta BCHXaHHS JepeB 10 :O:
1 36 0,6 — — — 10C3 95 0,65 la 32 40 480 2 | CPB BiaMupaHHs Ta BCUXAHHS JEPEB 25 2
| 37 3,1 — — — 10C3 85 0,65 la 30 32 450 2 CPB BiaMupaHHs Ta BCUXaHHS JepeB 25 a
1 38 1,2 — — — 10C3 80 0,7 la 28 30 440 2 CPB BigMupaHHs Ta BCUXaHHSI 1EPEB 10 3
1 39 0,7 — — — 10C3 55 0,8 1 21 22 340 2 | CPB BiaMupaHHs Ta BCUXaHHS JIEPEB 30 2
1 40 1,1 — — — 10C3 110 0,6 | 31 40 420 2 | CPB BiaMupaHHs Ta BCUXaHHS JEpeB 30 =
| 41 0.8 — - — 10C3 75 0,75 1 26 32 430 2 CPB BigMupaHHsS Ta BCUXAHHS AEPEB 30 %
?é 1 42 0,3 — — — 10C3 55 0,8 1 20 24 320 2 | CPB BiaMupaHHs Ta BCUXaHHS EpeB 20 3
) 1 43 0,4 — — — 10C3 80 0,7 la 28 32 440 2 CPB BigMUpaHHs Ta BCUXaHHS JepeB 30 z
Qo 1 44 5,1 — — — 10C3 110 0,65 la 32 36 480 2 CPB BigMupaHHs Ta BCHXaHHSL IepeB 40 E_
% 1 45 0,8 — — — 10C3 57 0,7 la 22 24 320 2 CPB BiaMHpaHHs Ta BCUXaHHS JIEpeB 25 8
m 1 46 6,9 — — — 9C31/13 95 0,6 la 31 44 410 2 CPB BigMupaHHs Ta BCHXaHHs JEPEB 10 a
o | 47 0,9 — — — 10C3 75 0,75 1 26 32 430 2 CPB BiaMupaHHsA Ta BCHXaHHS JepeB 25 .2
E 1 48 0,8 — — — 10C3 75 0,6 la 29 40 400 2 CPB BiaMupaHHs Ta BCHXaHHS JepeB 25 z
1 49 1,9 — — — 10C3 120 0,6 la 34 40 480 2 CPB BigMHpaHHs Ta BCHXaHHS AEPEB 10 5
S 9 7 — — — 10C3+/13 95 0,65 la 31 36 460 2 CPB BiaMupaHHs Ta BCUXaHHS JepeB 30 a
5 10 5.2 — — — 10C3 81 0,7 la 29 30 460 2 | CPB BiagMHpaHHA Ta BCUXAHHS JIEPEB 30 g
5 11 7.6 — — — 10C3+/13 95 0,6 la 32 40 440 2 CPB BiamupanHs Ta BCMXaHHS JIepes 30 =
17 1 0,5 — — — 10C3+/13 93 0,6 la 30 32 430 2 | CPB BiamupaHHs Ta BCUXaHHS JIEPEB 20 2
17 2 3.2 (1) 3,1 3,1 10C3 58 0,75 la 24 26 390 2 CPB BigMMpaHHs Ta BCUXAHHSA J€peB 30 =
17 3 222 (1) 18,4 18,4 10C3+/13 110 0,65 la 32 48 480 2 CPB BigMupaHHs Ta BCHXaHHS JepeB 40 I
17 ] 4 1,8 — — — 10C3 91 0,65 la 30 32 440 2 | CPB BigMHpaHHs Ta BCHXaHHS Jlepes 25
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2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19

17 5 5,7 — — — 10C3+/13 78 0,75 la 29 30 490 2 CPB BiaMupaHHs Ta BCUXaHHS JIEPEB 10

17 1 10 0,9 (1) 0,8 0,8 8C32/13 100 0,5 la 33 40 340 2 CPB BiagMMpaHHs Ta BCUXaHHS JEpeB 25

17 | 11 2,8 — — — 9C31/13 110 0,55 la 32 36 400 2 | CPB BigMupaHHs Ta BCHXaHHSA JIepeB 25

17 |1 16 1,3 — — — 10C3+/13 90 0,65 1 28 32 410 2 | CPB BiaMUpaHHs Ta BCUXAHHS JIEPEB 10

20 3 19,5 (1) 19 19 10C3 81 0,8 la 30 28 550 2 CPB BiaMupaHHS Ta BCUXaHHS JIEPEB 30

20 6 0,2 — — — 10C3 55 0,8 la 22 24 370 2 CPB BiaMUpaHHs Ta BCUXaHHS 1IEPEB 30

20 7 0,3 — — — 10C3 55 0,8 la 22 24 370 2 CPB BiagMHpaHHA Ta BCUXaHHS JIEPEB 30

25 1 2.9 — — — 10C3+/13 71 0,75 16 30 32 510 2 | CPB BigMupaHHsS Ta BCUXaHHS JiepeB 20

25 2 6,1 | — — — 10C3+/13 58 0,8 16 28 26 500 2 | CPB BiaMHpaHHs Ta BCUXAHHS JiepeB 30

25 3 3.7 — — — 10C3+/13+bn 74 0,7 la 28 32 440 2 | CPB BigMUpaHHsa Ta BCUXAHHSA JIEpEB 25

25 4 7 — — — 10C3+/13+bn 60 0,8 16 27 28 480 2 | CPB BigMHMpaHHs Ta BCUXQHHSA JEpeB 10

25 5 2,4 — — — 10C3+/13 74 0,75 la 29 32 480 2 | CPB BijiIMHpaHHs Ta BCUXaHHS JIEpEB 25

351 12 3,9 — — — 9C31/13 130 0,6 1 33 44 440 2 | CPB BigMMpaHHs Ta BCUXaHHSA JepeB 25

351 15 3 — — — 10C3 130 0,65 1 32 40 480 2 | CPB BinmupadHs Ta BCHXaHHS JepeB 15

35 | 21 4,8 — — — 10C3 70 0,75 16 31 32 540 2 CPB BiamMupaHHs Ta BCUXaHHS JIEpeB 25

35| 22 7 — — — 10C3 80 0,75 16 32 36 560 2 | CPB BisiMHpaHHs Ta BCUXAHHS JIEpeB 25
36 4 25 — — — 7C3313 110 0,7 la 34 44 480 2 | CPB BigMHpaHHs Ta BCHXAHHA JIEpeB 20 g
40 1 17,1 (1) 14,9 14,9 10C3+/13 150 0,55 1 33 52 430 2 CPB BigMMpaHHs Ta BCHXaHHSA JIepeB 20 e
40 2 4,6 (1) 4,5 4,5 10C3 150 0,5 1 33 52 390 2 | CPB BiaMupaHHs Ta BCHXaHHS IepeB 15 @
40 5 0,3 — — — 10C3 65 0,65 1 21 28 280 2 | CPB BiaMupanHs Ta BCUXaHHs JIEPEB 10 3
40 7 2,3 — — — 10C3 150 0,5 1 32 56 380 2 | CPB BiagMHpaHHA Ta BCHXaHHSA JepeB 20 o
40 8 0,6 — — — 10C3+bn 51 0,7 16 24 26 360 2 | CPB BiaMMpaHHs Ta BCHXaHHS JiepeB 10 =
41 7 8,6 — — — 10C3 150 0,55 1 33 48 420 2 CPB BigMUpaHHs Ta BCUXAHHS JIEpEB 30 §
§ 41 8 1,6 — — — 10C3 140 0,4 2 29 44 260 2 | CPB BiaMupaHHs Ta BCUXaHHS JIEpEB 30 §
8 | 44 1 4,5 — — — 10C3x+/13 60 0,8 la 25 26 430 2 CPB BiAMHpaHHSA Ta BCUXAHHS JIepeB 30 &
O | 44 5 5,3 — — — 10C3+/13 70 0,75 16 29 32 480 2 CPB BigmupaHHs Ta BCHXaHHS JepeB 20 ":‘I_
% 44 6 5,7 — — — 10C3+/13 75 0,7 16 30 36 480 2 | CPB BinMupaHHs Ta BCHXaHHSA JIepeB 25 e
ml 410 1 — — — 10C3+/13 65 0,8 16 28 32 500 2 | CPB BigMHpaHHS Ta BCUXAHHA JIepeB 20 a
Ol 4] 14 3,5 — — — 10C3+/13 70 0,7 la 28 32 440 2 CPB BiAMHpaHHSA Ta BCUXAHHA JepeB 20 2
Ea 49 1 12,8 — — — 10C3+/13+bn 95 0,65 16 34 40 520 2 | CPB BiaMUpaHHA Ta BCHXAHHSA JIEPEB 25 Z
491 4 1 — — - 10C3+/13+Kar+bn 160 0,4 1 35 52 310 2 | CPB BiaMupaHHs Ta BCHXaHHS Jepes 10 5
49 1 5 1,1 — — — 10C3 50 0,8 la 22 22 350 2 | CPB BiaMupaHHs Ta BCUXaHHS JIepeB 20 ‘a
491 6 5,5 — — — 10C3 62 0,8 16 28 32 500 2 | CPB BigMHpaHHs Ta BCHXAHHSA JEpeB 20 q[;f
49 7 7.4 (1) 5,7 5,7 10C3+]13 150 0,5 1 34 48 390 2 | CPB BinMupaHHs Ta BCHXaHHS JepeB 25 =
49 | 10 2.3 — — — 10C3 90 0,6 la 31 36 430 2 | CPB BigmupanHs Ta BCHXaHHS JepeB 25 :o:
49 1 11 1,2 — — — 10C3 80 0,65 1 27 36 390 2 | CPB BiMUpaHHs Ta BCUXAHHA JIEpEB 10 .g
49 | 12 8.5 (1) 8,3 8,3 7C32]131C3 140 0,5 1 33 64 330 2 | CPB BiamupaHHs Ta BCHXaHHS JIepeB 25 o

49 | 13 1 — — — 8C32/13 150 0,55 1 33 52 380 2 | CPB BiaMupaHHs Ta BCUXaHHS JIepeB 25

49 | IS 9,1 — — — 10C3 80 0,75 16 32 36 560 2 | CPB BiaMupaHHs Ta BCUXaHHS JIepeB 10

49 | 16 1,7 — — — 10C3 85 0,65 106 33 40 500 2 CPB BiaMUpaHHs Ta BCUXaHHS IepeB 30

49 | 17 2.7 — — — 10C3+/13 95 0,6 16 34 40 490 2 | CPB BiaMupaHHs Ta BCUXaHHS JIEpEB 20

49 | 18 0,5 — — — 8C32/13 85 0,65 16 33 36 450 2 | CPB BigMHpaHHSA Ta BCUXAHHSA JEpeB 20

49 1 19 3,2 — — — 10C3 85 0,7 16 33 36 550 2 | CPB BiaMupanHs Ta BCUXaHHS JepeB 25

49 | 20 1,1 — — — 9C31/13+C3 95 0,5 la 31 40 340 2 | CPB BiaMHpaHHs Ta BCUXaHHSA epeB 20

49 | 22 1,7 (1) 1,5 1,5 10C3 90 0,5 1 29 36 340 2 CPB BiaMupaHHs Ta BCHXAHHS EpEB 20

49 | 23 1,1 — — — 10C3+/13 95 0,6 16 34 44 480 2 CPB BiaMupaHHs Ta BCUXAHHS JepeB 15

49 | 24 0,3 — — — 10C3 56 0,75 16 25 30 410 2 CPB BiaMHUpaHHs Ta BCUXaHHS ACPEB 15

49 | 25 2.8 (1) 1,9 1,9 10C3+/13 70 0,7 la 27 32 430 2 CPB BiMHUpaHHs Ta BCUXAHHSA JIEpeB 15

54 2 6,5 — — — 9C31/13 60 0,8 la 26 26 440 2 CPB BiAMHpaHHsA Ta BCHXAHHA JIEPEB 20

541 3 6,7 (1) 3 3 10C3+/13 150 0,55 1 32 48 400 2 | CPB BisiMMpaHHs Ta BCUXaHHS JIepeB 20

54 4 5,3 — — — 10C3+/13 6l 0,8 la 26 28 460 2 CPB BiagMUpaHHs Ta BCUXAHHS JIEPEB 20

54 5 1,3 — — — 7C33bn+/13 49 0,75 16 26 28 380 2 | CPB BiaMupaHHs Ta BCUXaHHS JepeB 20

54 | 10 0,8 — — — 9C31bn+/I3+Akb 54 0,8 la 22 20 360 2 CPB BiaMupaHHs Ta BCUXaHHS JIEpeB 20




‘ 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
54 1 13 1,6 — — — 7C32bnl 113 49 0,8 16 26 28 410 2 | CPB BigMHUpaHHs Ta BCUXAHHS JepeB 25
54 | 14 0,5 — — — 10C3+13 57 0,7 la 23 24 340 2 CPB BigMUpaHHs Ta BCUXQHHS JEpEB 15
54 | 15 0,5 — — — 10C3+AK0 100 0,4 1 30 44 280 2 | CPB BiMUpaHHs Ta BCUXAHHSA JepeB 20
54 | 21 1,9 — — — 10C3+/13 50 0,8 la 23 24 390 2 | CPB BiaMupaHHs Ta BCUXaHHs JepeB 25
54 | 22 4,9 — — — 10C3+/13 61 0,8 16 28 30 500 2 | CPB BisMupaHHs Ta BCHXaHHs 1epes 25
61 1 0,9 — — — 7C3313 85 0,65 16 34 40 460 2 | CPB BigMupaHHs Ta BCUXAHHA JIEPEB 20
61 2 0,7 — — — 7C3313 100 0,7 la 34 44 500 2 CPB BiaMupaHHs Ta BCUXaHHS JIEpEB 25
61 4 1,8 — — — 9C31 /13 110 0,7 la 33 44 510 2 | CPB BiaMupaHHs Ta BCUXaHHS 1epes 25
61 5 2,4 — — — 8C32/13+bn 55 0,75 la 23 28 320 2 CPB BiaMupaHHA Ta BCHXaHHSA IEpeB 20
61 6 2,1 — — — 8C32/13 95 0,65 la 32 44 450 2 | CPB BiaMupaHHs Ta BCUXaHHS JepeB 20
[ 7 1,5 — — — 10C3+/13 57 0,75 la 24 26 390 2 CPB BiaMupaHHs Ta BCUXQHHS JIEPEB 25
61 8 1,5 — — — 8C32/13 70 0,6 la 28 36 350 2 | CPB BigMupaHHs Ta BCHXaHHS JIepeB 20
61 9 6,8 (1) 6 6 8C32/13 95 0,7 la 32 40 470 2 | CPB BigmupaHHs Ta BCHXaHHS JIepeB 25 %
61 10 1,1 — — — 10C3+/13 55 0,65 la 22 24 300 2 CPB BiaMmupaHHs Ta BCHXaHHS JIEpeB 20 e
61 12 1,9 — — — 9C31 /13 110 0,7 la 34 48 540 2 CPB BigMUpaHHs Ta BCUXAHHS JIepeB 10 @
61 15 0,5 — — — 8C32I3+bn+JIna 70 0,65 16 30 36 430 2 CPB BiaMUpaHHA Ta BCUXaHHS JiepeB 10 =
62 1 1,7 — — — 10C3+/13 55 0,7 16 25 28 380 2 | CPB BiaMUpaHHs Ta BCHXaHHs JepeB 20 )
62 2 0,6 — — — 8C3213+bn 140 0,4 2 30 48 250 2 | CPB BiaMupaHHs Ta BCUXAHHS JepeB 15 =
62 3 5,3 (1) 5 5 10C3k 61 0,8 16 27 30 480 2 | CPB BiaMHUpaHHA Ta BCUXAHHS JiepeB 25 §
§ 67 | 4 17,9 — — — 9C31 /13 110 | 0,65 la 34 44 500 2 | CPB BiaMupaHHs Ta BCHXaHHS JiepeB 25 §
21671 S 1,4 — — — 10C3+/13 75 0,7 la 29 36 460 2 | CPB BiaMupaHHs Ta BCUXaHHS JIepeB 15 <
Q{67 7 0,5 — — — 10C3 52 0,75 la 22 28 340 2 | CPB BiAMHUpPAHHA Ta BCUXAHHSA JIEpeB 10 g
% 67 [ 11 3 — — — 10C3+/13 80 0,7 la 30 36 480 2 | CPB BiamMupaHHs Ta BCUXaHHS JepeB 20 e
mi 68| 4 10 — — — 10C3+/13 79 0,7 la 30 36 480 2 | CPB BiaMupaHHs Ta BCUxaHHs epeB 30 2
Ol 68 5 0,3 — — — 10C3 58 0,7 la 24 24 360 2 | CPB BigMupaHHs Ta BCUXaHHS JiepeB 10 .9
Ea 68 8 4.3 — — — 10C3 59 0,7 1B 31 30 500 2 CPB BigMupaHHs Ta BCHXaHHS JiepeB 25 Z
68 1 9 6,9 — — — 10C3+/13 71 0,75 16 29 32 490 2 | CPB BigMupaHHs Ta BCUXaHHs JepeB 20 5
68 | 10 2 — — — 10C3+/13 69 0,7 16 30 32 480 2 | CPB BigMupaHHs Ta BCHXaHHSA Jiepes 25 a
68 | 11 2,5 — — — 10C3+/13 67 0,7 16 28 32 440 2 CPB BijMUpaHHs Ta BCUXaHHS JIepeB 25 g
72 1 5,6 — — — 10C3+/13 67 0,8 16 28 36 500 2 | CPB BiaMupadHs Ta BCUXaHHSA AepeB 25 =
72 2 0,8 — — — 10C3 72 0,75 16 31 36 530 2 CPB BiaMupaHHs Ta BCUXaHHS JepeB 20 g
72 3 0,4 — — — 10C3+bn 57 0,75 16 26 32 430 2 CPB BiaMupaHHs Ta BCUXaHHS JIepeB 20 =
72 | 43 3,1 — — — 8C3213+Knr+JIna+Akb 190 0,6 1 34 60 440 2 CPB BiMHUpaHHs Ta BCUXAHHA JiepeB 10 &
72 | 47 0,2 — — — 45 ne3bn3JIna+13 59 0,65 la 25 34 310 2 CPB BigMHUpaHHS Ta BCUXaHHS JepeB 10
741 9 0,4 — — — 10C3+/13 130 0,5 2 28 64 320 2 CPB BiaMHpaHHS Ta BCUXQHHS JiepeB 10
74 1 10 0,3 — — — 10C3+]13 85 0,7 la 29 36 460 2 CPB BigMUpaHHs Ta BCUXAHHSA JIEpeB 10
74 | 11 5.2 — — — 10C3+/13 57 0,8 la 23 26 390 2 | CPB BiamupakHs Ta BCMXaHHs AepeB 25
74 | 13 1 — — — 10C3+/13+513 57 0,75 16 26 30 430 2 | CPB BiamupaHHs Ta BCUXaHHS JepeB 20
74 | 15 2,7 — — — 10C3+/13+bn 85 0,65 16 33 40 500 2 | CPB BiamMupaHHs Ta BCUXaHHS Aepes 10
74 16 0,7 — — — 10C3 57 0,75 16 26 32 430 2 CPB BiaMUpaHHs Ta BCUXaHHS JEpeB 10
74 | 17 1,6 — — — 10C3+/13 85 0,65 la 31 40 460 2 CPB BiaMuUpaHHs Ta BCUXQHHS JIEpeB 25
76 | 11 7,6 — — — 10C3 85 0,8 la 30 32 550 2 | CPB BiAMUpaHHs Ta BCUXAHHS JiepeB 25
76 | 12 3,1 — — — 10C3+/13 62 0,8 16 27 30 470 2 CPB BiaMupaHHs Ta BCUXaHHS JepeB 20
76 | 15 1,6 — — — 10C3 62 0,8 16 27 30 470 2 CPB BigMUpaHHs Ta BCUXaHHS JIEpEB 15
76 | 16 2.5 — — — 10C3+AKO 85 0,75 la 30 36 520 2 CPB BiaMupaHHs Ta BCUXaHHs IepeB 25
Pazom: 433,6
i 9 2 4.1 — — — 9C31bn 54 0,75 la 22 24 300 2 CPB BigMupaHHs Ta BCUXAHHS JepeB 30 s g
g 9 5 12,3 — — — 10C3 180 0,4 2 30 62 300 2 | CPB BigMupaHHs Ta BCHXaHHS JIepes 5 o 2 E %
£ 13 7 7.4 — — — 7C33 /3 180 0,4 1 32 62 260 2 CPB BiaMupaHHs Ta BCUXAHHS JIEpEB 30 = g_ s 2
= 15 5 4,1 (1) 3,1 3,1 10C3 150 0,5 1 32 58 370 2 CPB BiMHpaHHs Ta BCUXAHHS JIEpEB 10 (E, E % s
2 16 1 0,3 — — — 10C3 140 0,5 | 32 52 370 2 | CPB BiaMupaHHs Ta BCUXaHHS JIepeB 10 =g i
2 [16] 2 2.9 (1) 1,6 1,6 8C32BI1 56 0,75 la 24 26 350 2 | CPB BiaAMUpaHHS Ta BCUXAHHS JIEPEB 25 E £
-~ 3_':




/ 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
17 2 29,0 (1) 28,2 28,2 9C31/13 75 0,85 la 29 32 500 2 CPB BiiMUpaHHs Ta BCUXaHHS JepeB 30
17 3 2.2 — — — 7C33/13 120 0,6 la 35 54 420 2 | CPB BiaMupaHHs Ta BCHXaHHS JEPeB 20
17 4 3,3 — — — 10C3 95 0,5 16 34 46 400 2 CPB BiaMHpaHHS Ta BCUXaHHS JepeB 10
17 5 6,8 — — — 9C31/13 120 0,4 la 35 48 310 2 CPB BigMHUpaHHs Ta BCUXaHHS Jiepen 10
18 8 2,1 — — — 10C3 110 0,55 la 35 48 450 2 CPB BiaMHpaHHA Ta BCUXaHHS JIEPEB 10
18 9 2.3 — — — 10C3+/13 105 0,5 la 34 48 400 2 CPB BiagMupaHHs Ta BCUXaHHS JIEpeB 10
20 3 23,5 — — — 7C3(107)3C3(87) 100 0,6 la 34 48 450 2 CPB BigMHpaHHs Ta BCUXaHHA JIEPEB 20
20 8 3,6 — — — 6C3(137)4C3(97) 130 0,6 1 33 54 450 2 CPB BiaMupaHHs Ta BCUXaHHS JIepeB 20
20 9 3,7 — — — 10C3 80 0,7 16 32 38 500 2 CPB BiiMUpaHHs Ta BCUXaHHSI 1epeB 30
20 | 11 2.4 — — — 9C31 13+3 120 0,5 la 34 50 380 2 CPB BiAMHpaHHs Ta BCUXaHHSI IepeB 10
25 7 9,8 — — — 10C3+/13 60 0,8 16 28 32 500 2 | CPB BiiMupaHHs Ta BCUXaHHS JepeB 25
25 8 5.2 — — — 9C31bn 59 0,85 16 25 28 430 2 CPB BiMHUpaHHs Ta BCUXaHHS JIEPEB 25
25 | 10 7,2 —_— — — 8C31/131bn 3 0,85 16 25 28 450 2 CPB BiMUpaHHs Ta BCUXaHHSI IepeB 25
26 | 2,8 — — — 7C31513n1 /131 Knr+bn 52 0,75 16 26 30 350 2 CPB BiaMHUpaHHs Ta BCUXaHHSI 1epeB 25
26 7 4,6 — — —_ 10C3+/13 90 0,6 16 35 50 500 2 | CPB BiamupaHHs Ta BCHXaHHS Aepes 15
26 | 13 1,3 — — — 8C31/131bn+Kunr 51 0,8 16 25 28 400 2 | CPB BiaMupaHHs Ta BCUXaHHS epeB 25
27 4 11 — — — 9C31/13 95 0,6 16 35 48 450 2 CPB BiMUpaHHs Ta BCUXAHHS JIepeB 15 g
27 6 13,2 — — — 7C33/13+bn 100 0,6 la 33 52 450 2 CPB BiMHUpaHHS Ta BCUXaHHS IepeB 15 e
27 7 7.9 — — — 5C35/13 110 0,6 la 35 52 400 2 CPB BiaMupaHHs Ta BCHXaHHS JIEpEB 15 a
32 2 15,5 — — — 10C3 190 0,4 1 35 64 300 2 | CPB BiaMupaHHs Ta BCUXaHHS JepeB 5 3
35 1 5,5 —_ — — 7C(87)33C3970 100 0,65 la 34 46 500 2 CPB BiMHUpAHHS Ta BCUXAHHS IEpEB 20 L
35 2 4,7 — — — 10C3 80 0,7 16 33 38 500 2 CPB BiaMHpaHHs Ta BCUXaHHS JIEPEB 20 =
=35 3 3,8 — — — 8C32]13 115 0,6 la 35 54 450 2 CPB BiaMupaHHs Ta BCUXaHHS JIEpeB 15 E
= | 35 4 7.3 — — — 10C3 90 0,75 16 33 36 550 2 CPB BinMHpaHHs Ta BCUXaHHS JIepeB 25 2
g 35 5 8.3 — — — 9C31/13 115 0,5 la 35 52 400 2 CPB BiiMupaHHs Ta BCHXaHHS 1€peB 10 g
a 35 6 12,9 — — — 10C3 100 0,6 la 34 48 450 2 CPB BiaMHpaHHs Ta BCUXaHHS JIepeB 15 =
E 35 7 2,7 — — — 5C35113 100 0,6 la 34 46 380 2 CPB BigMupaHHs Ta BCUXaHHS JepeB 15 e
={| 35 8 2.3 — — — 10C3+/13 95 0,6 16 34 46 520 2 CPB BiamMupaHHs Ta BCUXaHHS JepeB 15 B
O |38 3 24,5 — — — 10C3 120 0,5 la 33 54 380 2 CPB BigMupaHHs Ta BCUXaHHS 1epeB B .Q
5 41 | 2 3 — - — 10C3+13+Knr 80 0,8 16 33 40 600 2 | CPB BigmupaHHs Ta BCHXaHHS Jiepes 25 Z
R | 41 4 1,5 — — — 10C3 lsapyc 170 0,4 1 33 62 310 2 CPB BigMupaHHs Ta BCUXaHHS J1€peB 5 5
41 S 33 — — — 10C3+/13 90 0,6 la 32 48 440 2 | CPB BiaMupadHs Ta BCHXaHHS J€peB 10 ‘a
41 10 1,5 — — — 10C3 90 0,6 16 35 48 500 2 CPB BiMUpaHHs Ta BCUXAHHS JlepeB 15 g
41 17 21,2 — — — 10C3 80 0,8 16 31 40 560 2 CPB BigMUpaHHs Ta BCUXAHHS JEpeB 20 =
41 | 22 2 — — — 10C3+/13 170 0,4 1 35 66 340 2 CPB BiaMHUpaHHS Ta BCUXaHHS 1epeB 5 g
41 | 23 2.9 — — — 10C3+Knar 80 0,8 16 31 36 570 2 | CPB BiamupadHs Ta BCUXaHHS AepeB 20 g
42 1 9.5 (1) 8,7 8,7 10C3 55 0,8 la 22 26 360 2 CPB BiiMHpaHHs Ta BCUXAHHS JIepeB 20 &
45 1 2,6 — — — 10C3 70 0,85 la 27 332 500 2 | CPB BiamMupadHs Ta BCHXaHHS 1epes 25
45 2 4.5 — — — 10C3 80 0,8 la 30 34 520 2 | CPB BigMupaHHs Ta BCUXaHHSA Jepes 25
45 4 1,7 — — — 7C3(112)3C3(87) 105 0,5 la 33 54 370 2 CPB BiJMHUpaHHS Ta BCUXAHHS JIEpeB 5
45 6 73 — - — 10C3 75 0,8 16 31 34 570 2 CPB BiaMHUpaHHsA Ta BCUXaHHS JIepeB 25
45 1 10 1,7 — — — 10C3 90 0,65 la 31 34 500 2 CPB BiMHUpaHHs Ta BCUXAHHS JIEpEB 15
45 | 11 3,8 — —~ — 10C3 90 0,7 la 32 46 500 2 | CPB BiaMHUpaHHSA Ta BCUXAHHS JIepeB 15
45 | 12 1,6 — — — 9C31Ak0 75 0,7 la 29 34 350 2 | CPB BiaMUpaHHs Ta BCUXAHHS JEpes 20
45 | 13 1,5 — — — 9C31AKO 90 0,65 la 32 48 350 2 | CPB BiaMupaHHs Ta BCMXaHHSA J€peB 20
48 17 7,9 — — — 8C3(97)2C3(87) 90 0,7 la 32 46 540 2 CPB BiAMHpaHHA Ta BCUXaHHS JIEPEB 20
48 | 18 1,5 — — — 10C3 80 0,8 la 30 34 540 2 CPB BiaMHpaHHs Ta BCUXAHHS JIepeB 20
491 7 11,5 — — — 10C3 100 0,6 1 30 46 410 2 | CPB BiaMupaHHs Ta BCHXaHHs JEpPeB 15
49 ] 12 0,7 — — — 10C3 55 0,8 la 23 26 380 2 | CPB BiaMUpaHHS Ta BCUXAHHS J1epeB 20
49 | 13 1,3 — — — 10C3 70 0,8 la 28 32 520 2 CPB BiaMupaHHs Ta BCUXaHHS JIEpEB 20
49 | 14 2.3 — — — 10C3 70 0,65 la 28 34 400 2 | CPB BiaMUpaHHs Ta BCUXaHHs JIEPEB 15
49 15 1,9 — — — 10C3 100 0,6 la 31 44 450 2 CPB BiaMuUpaHHs Ta BCUXAHHS JIEPEB 15
49 | 22 1,1 — — — 10C3 70 0,8 la 27 30 500 2 CPB BiaMUpaHHs Ta BCUXAHHS JIEpeB 25




2 4 8 9 10 12 14 15 16 17 18 1
49 2.8 7C32bnl Ty 48 0,8 22 300 2 | CPB BigMMpaHHs Ta BCUXaHHs AEpEB 25
49 0,4 10C3 70 0,7 28 450 2 CPB BinMupaHHs Ta BCHXaHHS JIEpeB 25 2
49 0,4 10C3 70 0,8 28 500 2 CPB BiMUpaHHs Ta BCUXaHHS JE€PEB 25 g
52 72 7C3(87)3C3(57) 80 0,7 26 350 2 CPB BiaMUpaHHs Ta BCUXaHHs JEPEB 25 =
- 63 44 10C3 75 0,75 28 500 2 CPB BiaMHpaHHs Ta BCHUXaHHS JAEpeB 25 E\
=) 63 3,4 10C3 80 0,7 29 500 2 CPB BiaMupaHHs Ta BCUXaHHS JIEPEB 25 Er
| 63 2,9 7C3(87)3C3(62) 80 0,5 29 320 2 CPB BiaMupaHHs Ta BCUXaHHS AepEB 5 g-
Q| 63 1,5 10C3 70 0,8 27 450 2 CPB BiamupaHHs Ta BCHXaHHSA J€peB 25 = g
E 63 6,2 10C3 70 0,8 28 500 2 CPB BiaMUpaHHs Ta BCUXAHHs JepeB 25 S g
E 63 2.5 10C3 75 0,7 29 500 2 | CPB BiaMupaHHs Ta BCUXaHHS JEpPEB 25 E &
o 63 2,1 10C3 75 0,75 28 470 2 | CPB BiaMupaHHs Ta BCHXaHHSA A€pEB 25 a2 3
= 71 5,3 10C3 56 0,8 23 380 2 CPB BiaMupaHHs Ta BCUXaHHs JEPEB 20 E
E 71 10,9 10C3 55 0,85 24 430 2 | CPB BiamMupaHHs Ta BCHXaHHs 1€PEB 25 &
71 2,9 10C3 55 0,7 24 390 2 | CPB BigMHpaHHs Ta BCUXAHHS JIEpeB 20 s
71 5,4 10C3 90 0,6 30 400 2 CPB BiaMupaHHs Ta BCUXaHHS JepeB 20 i
71 3 10C3 54 0,7 24 380 2 CPB BigMupaHHs Ta BCUXAHHS IEPEB 20 g
76 4,8 8C3(87)2C3(62) 80 0,7 25 350 2 | CPB BigMHpaHHS Ta BCUXaHHS JEPEB 20 =
149 0,9 10C3 48 0,6 22 300 2 CPB BigMHUpaHHsS Ta BCUXaHHS JEPEB 15 o
Pazom: 425,3
1 1,7 10C3 67 0,7 27 420 2 | CPB BiaMupaHHs Ta BCUXaHHS AE€PEB 20
1 1,8 10C3 70 0,7 27 420 2 | CPB BigmupaHHs Ta BCUXaHHS JIEpeB 22
1 0,5 10C3 90 0,55 26 310 2 | CPB BiaMupaHHs Ta BCHXaHHS AEpeB 15
| 0,3 10C+/13 55 0,7 24 360 2 CPB BiaMHpaHHs Ta BCUXaHHs 1€PEB 18
1 5,7 10C3 75 0,8 26 460 2 CPB BigMUpaHHS Ta BCUXaHHs 1E€PEB 22
1 1,8 10C3 60 0,7 26 400 2 | CPB BiaMupaHHs Ta BCUXaHHS A€pEB 20
1 2,2 10C3+/1up 65 0,7 26 400 2 CPB BigMHpaHHS Ta BCHUXaHHS JepeB 20 e}
1 9,1 9C31Ak6 73 0,8 27 470 2 CPB BigMMpaHHs Ta BCUXaHHS 1€peB 25 OE
2 11,0 10C3 57 0,75 22 340 2 CPB BiiMupaHHs Ta BCUXaHHS J€PEB 18 @
2 6,5 10C3 65 0,75 25 430 2 | CPB BiaMupaHHs Ta BCHXaHHS JepeB 20 =
2 3,5 10C3 65 0,75 25 400 2 CPB BiaMUpaHHS Ta BCUXaHHS IE€PEB 20 )
2 1,9 10C3 50 0,85 24 440 2 CPB BiaMupaHHs Ta BCUXaHHS 1EPEB 22 :
= 2 3,1 10C3 110 0,6 26 320 2 CPB BiaMupaHHsS Ta BCUXaHHS JepeB 20 %
=z 2 4.9 10C3 100 0,6 25 320 2 CPB BigMHMpaHHS Ta BCUXaHHS JEpEB 20 3
6 2 3,6 10C3 60 0,7 24 370 2 CPB BiaMupaHHs Ta BCUXaHHS JEPEB 25 2
M 2 1,0 10C3 90 0,55 26 320 2 CPB BigMHpaHHS Ta BCUXAHHS JEPEB 20 %[_
o1l 2 0,2 10C3 57 0,75 22 340 2 | CPB BigMupaHHs Ta BCUXAHHS AEPEB 18 )
E 2 0,4 10C3 60 0,7 26 400 2 | CPB BiaMupaHHs Ta BCUXaHHS AepeB 22 é
= 2 6,3 10C3 90 0,75 27 450 2 | CPB BiaMupaHHs Ta BCUXaHHS AepeB 25 L
= 2 1,6 10C3 70 0,75 28 470 2 CPB BigMupaHHs Ta BCUXaHHS JepeB 25 Z
N[ 0,6 10C3 55 0,7 24 360 2 | CPB BigMMpaHHs Ta BCUXaHHS AEPEB 20 5
2 2,0 10C3 55 0,75 23 360 2 CPB BiaMupaHHs Ta BCUXaHHSA AEPEB 18 a
5 1 0,8 10C3 70 0,7 26 400 2 | CPB BiaMupaHHs Ta BCUXaHHS A€PEB 20 e
5 2 0,4 10C3 70 0,6 27 350 2 CPB BiaMUpaHHs Ta BCUXaHHs AEPEB 15 g
5 3 1,7 10C3 90 0,7 28 440 2 CPB BiIMUpaHHs Ta BCUXaHHS AepeB 22 ?:
5 4 0,8 10C3 90 0,55 29 370 2 CPB BiaMupaHHs Ta BCHxaHHs AepeB 15 =
5 5 2,0 10C3 68 0,6 25 360 2 CPB BiaMupaHHs Ta BCUXaHHS 1epeB 15 &
5 6 3,8 10C3 100 0,7 28 440 2 CPB BiiMMpaHHs Ta BCUXaHHs AEPEB 20
5 7 1,0 10C3 100 0,35 27 210 2 CPB BiaMUpaHHs Ta BCUXaHHs 1E€PEB 10
5 8 0,8 10C3 60 0,65 24 330 2 CPB BiaMupaHHs Ta BCUXAHHS J1EPEB 15
5 9 7.4 10C3 80 0,65 26 400 2 | CPB BiaMupaHHs Ta BCHXAHHS AepeB 20
5 10 5.8 10C3 70 0,7 27 420 2 | CPB BiiMMpaHHs Ta BCUXAHHS 1EpEB 22
5 12 0,6 10C3 75 0,65 29 430 2 CPB BiamupaHHs Ta BCUXaHHS JIEpEB 20




‘ 2 3 4 8 9 10 11 12 13 14 15 16 17 18 19

5 14 0,3 10C3 70 0,5 la 26 32 290 2 | CPB BiaMupaHHs Ta BCUXaHHS AepeB 15

5 15 1,7 10C3 95 0,5 1 28 44 320 2 | CPB BigMupaHHs Ta BCHXaHHS AepeB 20

5 17 0,2 10C3 80 0,6 1 24 32 310 2 CPB BiAMUpaHHs TA BCUXAHHSA JepeB 20

5 19 3,5 10C3 90 0,55 1 28 40 350 2 | CPB BisiMMpaHHs Ta BCUXaHHs IepeB 20

5 20 0,6 10C3 80 0,7 3 19 36 230 2 CPB BigMupaHHs Ta BCUXaHHS JepeB 15

5 21 2,0 10C3 95 0,55 2 26 40 310 2 CPB BiaMHUpaHHs Ta BCUXAHHA JIEpEB 20

5 22 0,7 10C3 80 0,65 2 21 26 280 2 CPB BiAMHpaHHs Ta BCUXaHHA JIcpeB 18

5 23 0,5 10C3 80 0,55 3 20 28 200 2 CPB BiaMupaHHs Ta BCHXaHHs IEpPEB 15

5 24 0,3 10C3 80 0,7 1 26 30 400 2 | CPB BiaMupaHHs Ta BCUXaHHS JepeB 20

5 25 1,5 10C3 95 0,6 1 27 40 360 2 | CPB BiaMHpaHHs Ta BCUXaHHS JIEpeB 20

5 26 0,6 10C3+Bau+bn 55 0,7 la 24 28 360 2 | CPB BiiMupaHHs Ta BCHXaHHS JEpeB 20

5 27 0,3 10C3 110 0,55 2 26 48 310 2 CPB BiaMHpaHHs Ta BCUXQHHSA JepeB 18

5 30 0,5 10C3 50 0,75 la 23 26 360 2 | CPB BiiMUpaHHs Ta BCHXaHHS JEpEB 20

5 31 0,5 10C3 80 0,6 1 26 36 340 2 | CPB BijiMupaHHs Ta BCUXaHHs JEpeB 22

5 32 3,8 10C3 90 0,65 1 27 36 390 2 | CPB BiaMupaHHs Ta BCHXaHHSA JepeB 25

5 33 0,3 10C3 60 0,75 la 26 28 430 2 | CPB BigMupakHs Ta BCUXaHHS JepeB 22
31 4 1,3 8C32/13 58 0,75 la 24 26 340 2 | CPB BiaMupaHus Ta BCHXaHHs JepeB 20 2
31 5 0,2 10C3 160 04 2 27 52 250 2 | CPB BiaMupaHHs Ta BCHXaHHSA JIEpeEB 15 2
31 7 0,5 7C33 13+Kar 55 0,75 la 23 30 290 2 | CPB BigMupaHHs Ta BCUXaHHS Aepes 20 @
31 8 2,8 9C31/13 68 0,75 1 25 28 360 2 CPB BiaMHpaHHs Ta BCUXaHHS JepeEB 25 =
31 ] 11 0,9 6C33/131bn 50 0,75 la 22 26 250 2 | CPB BiiMupaHHs Ta BCUXaHHS JEpEB 15 )
31 12 0,1 8C32/13 57 0,65 la 24 32 270 2 CPB BiMHUpaHHs Ta BCUXaHHs aepeB 15 =
w313 0,5 8C31/131bn+0c¢ 88 0,6 2 23 36 260 2 | CPB BiaMupaHHs Ta BCUXaHHS JEPEB 15 z
< | 31 15 0,8 10C3+/13 68 0,75 1 25 30 400 2 | CPB BiMupaHHs Ta BCUXaHHS JIepeB 20 a3
W [73] 18 0,1 8C32/13 72 0,75 la 24 28 340 2 | CPB BiMHpaHHs Ta BCUXaHHS JepeB 20 2
8 31 19 0,4 10C3 57 0,75 16 25 28 440 2 | CPB BiaMupaHHs Ta BCHXaHHS JepeB 22 E(_
O [ 31 ]2 0,3 10C3 57 0,85 la 24 26 440 2 CPB BigMupaHHs Ta BCUXaHHS JIepeB 25 g
& |31 ] 21 0,8 5C32bnm2/131 By 80 0,7 1 25 36 290 2 | CPB BiaMupaHHs Ta BCHUXaHHs JepeB 20 2
E 31 ] 22 0,1 8C32/13 57 0,65 la 24 26 290 2 | CPB BiaMupaHHs Ta BCUXaHHS JEpEB 20 L
= 31| 23 0,2 10C3+/13 65 0,7 la 25 28 380 2 CPB BiaMHpaHHs Ta BCUXaHHS J1epeB 25 Z‘
= 31| 26 2,6 5C32bm21310¢ 55 0,7 la 22 28 220 2 | CPB BiaMupanHs Ta BCUXaHHs JepeB 20 5
31 | 27 1,6 9C31/13 68 0,75 1 24 30 380 2 CPB BiaMupaHHs Ta BCUXaHHA JepeB 25 a
31| 28 0,2 8C32/13 58 0,7 1 21 28 280 2 | CPB BiaMupaHHs Ta BCHXaHHS AEpEB 22 g
31 | 30 0,4 10C3 60 0,75 la 25 28 400 2 CPB BiaMupaHHs Ta BCUXaHHs IepeB 25 s
31 | 31 2.2 9C31]13 140 0,5 2 27 48 290 2 CPB BiaMupaHHs Ta BCUXaHHS JEpeB 20 g
31 | 32 3,1 9C31 13 70 0,75 1 25 28 340 2 CPB BiaMupaHHs Ta BCUXaHHS JEpEB 22 .E
31 ] 33 13, 8C32]13 140 0,5 2 27 48 280 2 | CPB BiaMupaHHs Ta BCUXaHHS JEpEB 20 o

31 ] 35 0,3 9C31 13 70 0,65 1 24 36 340 2 | CPB BiaMmupaHHs Ta BCUXaHHS AepeB 22

31 | 36 0,5 9C31 /13 70 0,6 1 24 36 300 2 CPB BiamupaHHs Ta BCUXaHHA JepeB 20

31 | 38 2,6 9C31 /13 70 0,75 1 23 26 340 2 | CPB BiaMuUpaHHsA Ta BCUXAHHS JepeB 22

31 | 39 1,8 9C31 I3+bn 80 0,7 | 24 36 340 2 CPB BigMupaHus Ta BCUXaHHS JepeB 22

31 | 40 0,6 9C31bn 80 0,6 1 25 32 300 2 CPB BiMHUpaHHS Ta BCUXaHHS JepeB 20

31 ] 41 2.8 10C3 140 0,75 2 27 42 380 2 | CPB BiiMupaHHs T4 BCHXaHHS JepeB 15

31 | 42 0,9 10C3 55 0,7 la 22 26 330 2 CPB BiiMUpaHHs Ta BCHXAHHS J1epEB 18

31 ] 44 1,8 10C3 80 0,7 1 25 32 390 2 | CPB BiiMupaHHs Ta BCUXaHHS JIEpEB 22

31 | 46 1,1 8C32Bnu 80 0,6 1 25 36 300 2 | CPB BigMHpaHHs Ta BCUXaHHSA JepeB 25

31 | 48 0,9 10C3+bn 55 0,75 la 23 26 350 2 | CPB BiaMupaHHs Ta BCHXaHHS JepeB 25

31 | 49 0,5 8C32]13 57 0,75 la 23 26 350 2 CPB BiaMUpaHHs Ta BCUXAHHS JIEPEB 22

311 50 2.4 5C35/13 140 0,3 3 26 52 130 2 CPB BiaMupaHHs Ta BCUXaHHS JepeB 8

32 5 0,5 8C31)I31bn 58 0,75 2A 23 24 320 2 CPB BiamupaHHs Ta BCHXaHHA JepeB 20

42 1 0,4 10C3+bn 85 0,6 1 25 36 320 2 CPB BiaMupaHHs Ta BCHXaHHS J1epeB 18

42 2 0,6 10C3+bn 78 0,7 1 25 3 380 2 | CPB BiaMupaHHs Ta BCUXAHHS 1epeB 15

42 3 0.4 10C3 55 0,8 la 22 24 370 2 CPB BiaMUpaHHs Ta BCHXAHHS JepeB 18

n

n




Cpe s 4 0 8 9 0 | 11 12 13 14 15] 16 17 18 v

421 6 0,3 — 9C31bn+Oc¢ 85 0,5 1 27 44 290 2 | CPB BiaMupaHHs Ta BCUXaHHS JEpeB 20

42 9 2,0 — 10C3 55 0,65 1 20 24 250 2 CPB BiamMupaHHs Ta BCUXaHHS JEPEB 15

42 1 12 1,1 — 8C32bn+Oc+Bu 85 0,6 1 26 40 310 2 CPB BisiM1paHHs Ta BCUXaHHS JEpeB 18

42 13 7,4 — 9C31bn 80 0,7 1 26 36 390 2 | CPB BigMupaHHs Ta BCHXaHHs JI€peB 20

43 1 0,2 — 10C3 80 0,45 2 22 32 220 2 CPB BigMupaHHs Ta BCHXaHHs J€PEB 15

43 2 0,5 — 10C3 170 0,7 3 25 44 280 2 | CPB BiaMupaHHs Ta BCUXaHHs iepes 15

43 3 0,3 — 10C3 70 0,6 la 27 36 360 2 | CPB BiaMupadHs Ta BCHXAHHS IEPEB 15

43 4 1,2 — 10C3 70 0,85 la 22 24 390 2 CPB BiaMUpaHHA Ta BCUXAHHS JEPEB 18

43 5 2,3 — 8C32bn 60 0,85 2 19 18 300 2 | CPB BiMHUpaHHs Ta BCUXAHHSA J€peB 15

43 6 2,4 — 10C3 60 0,8 1 22 24 370 2 CPB BiaMupaHHsA Ta BCUXAHHS JepeB 18

43 7 9,5 — 10C3 55 0,8 1 19 20 300 2 | CPB BiaMupaHHs Ta BCUXaHHS AEpeB 12

43 8 1,0 — 10C3 55 0,85 2 16 18 240 2 | CPB BiaMupaHHs Ta BCUXaHHS JiepeB 12

43 9 0,8 — 10C3 75 0,7 2 22 32 320 2 | CPB BiaMmupadus Ta BCHXaHHs JIEpEB 15

43 | 10 0,1 — 10C3 46 0,55 2 16 18 160 2 CPB BiamupaHHs Ta BCUXaHHS JIEpeB 8

43 12 2,5 - 10C3 55 0,9 3 14 14 180 2 CPB BigMupaHHA Ta BCUXAHHS JE€PEB 8

43 13 3,0 — 10C3 55 0,8 la 23 24 390 2 CPB BigMUpaHHs Ta BCHXAHHS JEPEB 10

43 | 14 1,2 — 10C3 46 0,8 la 21 26 340 2 | CPB BiaMHpaHHS Ta BCUXaHHSA JIepeB 12 2

49 1 2 5,1 — 10C3 56 0,75 1 21 22 320 2 | CPB BizMupaHHs Ta BCUXaHHS JiepeB 12 g

491 3 1,8 — 10C3 56 0,75 la 22 22 340 2 | CPB BigMuUpaHHs Ta BCUXaHHS JIEpEB 12 =

491 4 23 —~ 10C3 56 0,75 1 21 20 320 2 | CPB BisMupaHHs Ta BCUXaHHS JEpeB 12 3

49 S 0,8 — 10C3 46 0,7 2 14 14 170 2 CPB BiamMupaHHs Ta BCUXaHHs JIEpeB 8 L

491 6 0,5 — 10C3 110 0,5 4 17 40 150 2 | CPB BigMupanHs Ta BCHXaHHS JepeB 8 =
= 49 7 0,2 —_ 10C3+bn 55 0,65 1 21 22 290 2 CPB BigmMupaHHs Ta BCUXaHHS JiepeB 10 %
< | 49 8 3,0 — 10C3 56 0,85 la 22 22 390 2 | CPB BiamupanHs Ta BcHxaHHs JepeB 12 a
8 49 | 10 0,6 — 10C3+bn 55 0,7 | 21 24 300 2 CPB BiiMHpaHHs Ta BCUXaHHSA Jepes 10 g‘
) 49 | 11 0,8 — 10C3 55 0,8 1 21 24 340 2 | CPB BiamupaHHs Ta BCHXaHHs Jiepes 10 =
O 491 12 1,2 — 10C3 60 0,75 la 25 26 420 2 | CPB BigMupaHHs Ta BCHXaHHS JIEpeB 12 =]
<149 ] 13 0,4 — 10C3 70 0,6 1 24 32 310 2 | CPB BinmupaHHs Ta BCUXaHHS JEpeB 10 2
E 49 | 14 0,7 — 10C3 48 0,75 la 22 24 340 2 CPB BinMupaHHs Ta BCUXaHHS Jiepes 12 .Q
= 49] 16 0,5 — 10C3 50 0,85 1 20 20 340 2 CPB BiiMUpaHHs Ta BCUXAHHS JiepeB 10 z
= 49 1 18 0,5 — 10C3+bn 56 0,7 la 22 20 320 2 | CPB BisiMMpaHHs Ta BCUXaHHS JEPEB 12 5

51 1 4,0 — 10C3 50 0,85 la 22 20 390 2 CPB BiiMupaHHs Ta BCUXAHHS JiepeB 15 ‘a

Sl 2 4,8 — 10C3 50 0,85 1 19 20 310 2 CPB BiamupaHHs Ta BCUXaHHS JIEPEB 12 g

51 3 1,8 — 10C3 50 0,8 1 20 20 320 2 CPB BiiMupaHHs Ta BCUXaHHS JepeB 12 s

51 5 0,6 — 10C3 45 0,9 la 20 18 360 2 CPB BiMupaHHs Ta BCHXaHHS JepeB 15 %

51 6 6,8 - 10C3 57 0,85 1 20 18 340 2 CPB BiMUpaHHs Ta BCUXaHHS JEpEB 15 .E

51 8 1,8 - 10C3 45 0,85 la 19 18 310 2 CPB BifiMupaHHs Ta BCUXaHHS IEpeB 12 laa)

51 10 0,2 — 10C3 57 0,6 la 22 3 280 2 CPB BiaMupaHHs Ta BCUXaHHs JepeB 10

51 1L 5,3 — 10C3 110 0,6 3 23 48 220 2 | CPB BigMHpaHHs Ta BCUXaHHS JepeB 10

51 12 0,9 — 10C3 60 0,8 1 22 24 370 2 | CPB BiaMupaHHs Ta BCHXaHHS JIEpEB 12

51 13 1,6 - 10C3 55 0,8 1 21 22 340 2 CPB BiaMupaHHs Ta BCUXaHHS Jiepes 12

SL | 14 1,8 — 10C3 57 0,7 1 21 20 310 2 |{ CPB BisiMMpaHHs Ta BCUXaHHS JEpeB 11

51 15 1,9 - 10C3 57 0,85 1 20 18 340 2 CPB BiaMupaHHs Ta BCUXaHHS Jiepes 12

51 16 0,1 — 10C3 65 0,7 1 22 30 320 2 | CPB BiaMupaHHs Ta BCUXaHHS JEPEB 15

51 18 1,0 — 10C3 90 0,65 2 25 40 350 2 CPB BizMupaHHs Ta BCUXaHHS Jiepes 15

51 19 0,5 — 8C32bn 70 0,55 2 20 30 200 2 | CPB BiaMuUpaHHs Ta BCUXAHHS JIEPEB 10

511 20 2.8 — 10C3 55 0,85 1 20 20 340 2 CPB BiaMupaHHs Ta BCUXAHHA JIEPEB 12

53 2 2,4 — 10C3 51 0,85 la 21 22 360 2 | CPB BiiMMpaHHS T4 BCUXAHHS JIEpeB 15

53 3 1,4 — 10C3 51 0,7 2 17 26 220 2 CPB BiMupaHHs Ta BCHXaHHS JIEpeB 8

53 6 1,2 - 10C3 60 0,7 1 20 26 310 2 CPB BiaMupaHHs Ta BCHXaHHA JIEpeB 10

53 7 0,8 — 10C3 110 0,55 3 24 40 240 2 CPB BinmupaHHs Ta BCHXAHHS epeB 12

53 8 0,3 — 10C3 47 0,65 la 20 24 300 2 CPB BiMHpaHHs Ta BCHXaHHS J1epeB 10

53 9 3,8 — 10C3 55 0,85 | 19 20 310 2 CPB BiaMupaHHs Ta BCHXAHHS JIepeB 16




( 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
53| 12 1,1 — — — 9C31bn 58 0,6 1 21 24 250 2 CPB BiMHpaHHs Ta BCUXAHHS JEpEB 10
53| 13 0,7 — — — 10C3 58 0,85 1 22 20 390 2 | CPB BigMUpaHHA Ta BCUXAHHS JIEPEB 15
53] 14 1,3 — — — 10C3 70 0,7 1 23 30 340 2 | CPB BigMHpaHHsA Ta BCUXAHHS JiepeB 15
53| 16 5,6 — — — 10C3+bn 110 0,55 3 21 40 200 2 CPB BigMHpaHHs Ta BCHXaHHA JiepeB 15
531 17 0,1 — — — 10C3 45 0,7 la 20 24 280 2 CPB BiaMHUpaHHs Ta BCUXAHHS JIEPEB 12 g
53 18 0,3 — — — 10C3+bn 58 0,7 la 24 36 360 2 CPB BiaMHpaHHs Ta BCUXaHHS JiepeB 15 o
53 19 1,4 — — — 8C32bn 55 0,7 1 20 22 250 2 CPB BijiIMHpaHHs Ta BCUXaHHS IEPEB 12 a
53 | 20 2,4 — — — 10C3+/13 65 0,65 1 24 30 300 2 | CPB BiamupaHHs Ta BCUXaHHS JepeB 15 3
53 | 21 0,9 — — — 10C3 75 0,6 2 21 40 260 2 | CPB BiamMupaHHs Ta BCUXaHHS 1epeB 15 L
53| 22 0,6 — — — 9C31bn 100 0,6 2 24 40 300 2 CPB BiaMupaHHs Ta BCUXaHHA iepeB 15 =
= L35 1 0,7 — — — 10C3 130 0,3 3 22 52 130 2 | CPB BigMupaHHs Ta BCUXaHHS JepeB 8 I
=z | 55 2 0,2 — — — 10C3 90 0,55 2 21 44 200 2 | CPB BigMHpaHHs Ta BCHXAHHSA JiepeB 10 3
2 [ 55 3 0,4 — — — 10C3 55 0,8 la 23 26 390 2 CPB BizMUpaHHs Ta BCUXAHHS JepeB 15 z
g 55 4 1,6 — — — 10C3 120 0,45 3 22 48 180 2 | CPB BiamupadHs Ta BCUXaHHS €pes 12 E_
QLSS 8 0,3 — — — 9C31bn+/I3 55 0,7 la 23 24 340 2 | CPB BigMHpaHHs Ta BCUXaHHS JEPEB 12 e
& | 55 9 1,9 — — — 10C3 100 0,3 2 26 48 170 2 CPB BigMupaHHs Ta BCHXaHHS JIEpeB 10 2
E 55 10 0,3 — — — 10C3 57 0,6 2 18 22 210 2 CPB BigMHpaHHs Ta BCHXAHHS JIEpEB 12 L
=55 12 0,7 — — — 10C3+bn 50 0,65 2 17 26 200 2 | CPB BiamMupanHs Ta BCUXaHHs JepeB 15 z
N[ 5513 1,0 — — — 10C3 57 0,75 1 19 20 300 2 | CPB BiaMMpaHHA Ta BCUXAHHA AEPEB 15 5
551 14 6,4 — — — 10C3 130 0,5 3 25 52 230 2 | CPB BinMupaHHs Ta BCHXaHHS JEpEB 15 ‘a
551 15 0,6 (1) 0,5 0,5 10C3+bn 60 0,5 | 22 32 230 2 CPB BiaMupaHHs Ta BCUXaHHS Iepes 15 g
551 16 0,5 — — — 10C3+bn 70 0,6 1 22 32 280 2 | CPB BiaMupaHHs Ta BCHXaHHS JepeB 15 =
55 1 23 0,2 — — — 10C3 65 0,6 1 24 32 310 2 | CPB BiamMupaHHs Ta BCUXaHHS EPEB 15 g
55 | 24 0,3 — — — 10C3 55 0,6 1 20 26 240 2 CPB BiaMupaHHs Ta BCUXaHHS JIEpeB 12 =
55 | 28 0,4 — — — 7C33bn+Oc¢ 60 0,7 la 25 30 330 2 CPB BiMHpaHHs Ta BCHXAHHSA JIepeB 15 &
55 | 29 0,1 — — — 7C33bn 60 0,75 la 26 30 380 2 CPB BigMupaHHs Ta BCHXaHHS JepeB 15
551 30 0,3 — — — 10C3 50 0,75 1 20 24 300 2 CPB BiaMmupanHs Ta BCHXaHHS JepeB 12
55 | 31 0,1 — — — 6C34bn 55 0,65 la 22 36 270 2 | CPB BiamupaHHs Ta BCUXaHHS Jepes 15
551 35 0,5 — — — 10C3+Ak6 50 0,7 2 16 28 200 2 | CPB BigMupaHHs Ta BCUXaHHS JIEpeB 10
Pa3zom: 293,2
1 1 11,7 — — — 10C3 80 0,70 16 31 36 500 2 | CPB BisaMupaHHs Ta BCHXaHHS JIepeB 50 °
1 3 0,1 — — — 7C33bn 60 0,70 la 26 30 310 2 | CPB BigMupanHs Ta BCUXaHHS Jepes 40 z
1 6 0,8 — — — 10C3 80 0,80 la 3 32 550 2 { CPB BigMupaHHs Ta BCUXaHHS JIepeB 42 =2
1 7 0,5 — — — 10C3 60 0,80 16 28 30 500 2 | CPB BigMUpaHHs Ta BCUXaHHS J1EpeB 45 Z
1 8 3.1 — — — 10C3 85 0,70 16 32 40 520 2 CPB BiaMupaHHs Ta BCHXaHHS JIepeB 50 z
1 10 0,7 — — - 10C3 60 0,80 16 29 36 530 2 CPB BigMHUpaHHSA T2 BCHXAHHS JIEpeB 30 T
1 13 0,9 - — — 10C3 85 0,75 la 30 36 510 2 | CPB BiaMupaHHs Ta BCUXaHHS JEpeB 40 z
=2 17 0,6 — — — 10C3 130 0,50 1 31 56 360 2 | CPB Binmupanus Ta Beuxaus 1epes 35 3
% 3 13 0,9 — — — 6C32bm2Kns 45 0,80 106 22 24 310 2 | CPB BigMupauHs Ta BCHXaHHS J1epeB 30 2‘
o L3 14 0,3 — — — 10C3 70 0,75 16 29 32 490 2 | CPB BiaMupaHHs Ta BCUXaHHS JIEpes 30 =
| 3 20 1,3 — — — 10C3 60 0,75 16 28 30 470 2 | CPB BiamupaHus Ta BCHXaHHs IepeB 50 e
5 4 7 1,1 — — — 10C3 70 0,80 16 29 36 530 2 | CPB BiamMupaHHs Ta BCUXaHHS JIEpeB 45 =
=z 4 8 2.8 — — — 10C3 60 0,75 16 27 30 450 2 | CPB BiaMupaHHs Ta BCUXaHHS JiepeB 40 3
~S I 9 0,7 — — — 10C3+/13 160 0,70 2 30 68 450 2 | CPB BijMupaHHs Ta BCUXaHHS JIepes 45 K=
E 4 10 0,9 — — — 10C3 50 0,75 I 27 28 450 2 CPB BiagMHpaHHA Ta BCUXaHHS AepeB 50 .2
4 11 8.5 — — — 10C3 55 0,80 16 26 28 460 2 | CPB BigMUpaHHs Ta BCUXAHHS JIEpEB 50 E
5 1 0,9 — — — 10C3+/13 65 0,80 16 28 32 500 2 CPB BigMUpaHHs Ta BCUXaHHS J€peB 40 s
5 2 0,2 — — — 10C3 60 0,70 16 27 30 420 2 CPB BiamMupaHHs Ta BCUXaHHS JIEpeB 3 =
S 3 4.8 — — — 10C3 65 0,75 106 29 32 490 2 CPB BiAMHpaHHs Ta BCUXaHHS JIepeB 48 i
5 5 0,5 — — — 10C3 70 0,75 106 29 32 490 2 CPB BiaMupaHHs Ta BCUXaHHS J1epeB 45 e
S 7 4,6 (1) 3,6 3,6 10C3(55)+13+C3 S5 0,8 16 26 28 460 2 | CPB BiamMupanus Ta BCHXaHHS JIepeB 45 rLﬁ:
5 9 3.4 — — — 10C3 65 0,75 16 30 32 510 2 CPB BiaMHpaHHs Ta BCUXAHHS JIepeB 45
8
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3 4 5 6 7 8 9 10 11 12 13 14 15 16 17
11 5,0 (1) 43 4,3 10C3+bn 70 0,60 la 27 32 360 2 | CPB BiaMUpaHHs Ta BCMXaHHs JEPEB
16 2.2 — — - 10C3+/13 85 0,75 16 32 40 560 2 { CPB BigMHpaHHsA Ta BCUXaHHA IEPEB
17 2.4 — — — 8C32/13 105 0,60 la 31 52 410 2 CPB BigMupaHHs Ta BCUXaHHSA IEPEB
18 2.4 — — — 10C3+/13 85 0,65 16 32 40 480 2 CPB BiMupaHHs Ta BCUXaHHS JepeB
19 2,7 — — — 9C31/13+Bra 100 0,60 la 32 48 430 2 CPB BinMupaHHs Ta BCUXaHHS IE€peB
21 1,8 — — — 10C3+/13 85 0,65 10 32 44 480 2 CPB BiaMHpaHHs T2 BCUXaHHS IEPEB
2 14,0 (1) 6,1 6,1 9C31/13 65 0,80 la 27 30 460 2 CPB BiMUpaHHs Ta BCUXAHHA JiepeB
3 4,8 — — — 9C31/13+AkO+5ne 80 0,75 16 27 30 440 2 | CPB BigMHpaHHs Ta BCUXaHHS JIepeB
5 5,3 — — — 10C3+AKO 65 0,75 la 27 28 450 2 CPB BiMupaHHs Ta BCUXaHHS JEpeB
6 4,7 — — — 10C3+/13+Brn+Kins 50 0,75 16 26 28 430 2 | CPB BiaMupaHHs Ta BCHXaHHS JIEpeB
8 5,8 — — — 10C3+/13+bn 50 0,75 16 26 28 430 2 CPB BigMupaHHs Ta BCUXaHHS JIEPEB
9 5,3 — — — 10C3 60 0,80 16 28 30 500 2 CPB BigMupaHHs Ta BCUXaHHS 1€PEB
10 1,7 — — — 10C3 55 0,80 16 27 30 480 2 CPB BiamMupaHHs Ta BCHXaHHS EpEB
12 1,9 — — — 10C3 55 0,75 16 27 30 450 2 CPB BiaMupaHHs Ta BCUXaHHS IEpeB
| 4,9 — — — 10C3+bn 80 0,75 16 32 36 560 2 CPB BiaMupaHHs Ta BCUXaHHS JIEpEB
2 1,8 — — — 10C3 65 0,75 16 30 32 510 2 | CPB BiaMupaHHs Ta BCUXaHHS AepeB
3 2,9 — — — 10C3(65)+C3(90) 65 0,70 16 29 32 460 2 CPB BigMupaHHs Ta BCUXaHHS JEpeEB 2
4 2,0 — — — 10C3+/13 80 0,70 16 32 40 520 2 | CPB BiaMHpaHHs Ta BCUXaHHS JIEpeB e
5 2.1 — — — 10C3+/13 65 0,80 16 29 32 530 2 | CPB BigMupaHHs Ta BCMXaHHS JIEPEB @
6 1,1 — — — 6C34/13 110 0,60 1 31 50 390 2 | CPB BigMupaHHs Ta BCUXaHHA JepeB 3
7 2,0 — — — 5C35/13 110 0,60 la 32 48 380 2 CPB BiaMHpaHHs Ta BCUXaHHS JIepeB 2
8 2,7 — — — 10C3+/13 85 0,75 la 31 36 540 2 CPB BigMupaHHs Ta BCUXaHHS JepeB =
= 9 0,1 — — — 9C31 /13+51ne 60 0,70 16 27 30 410 2 CPB BiamupaHHs Ta BCUXaHHS JepeB ES
< 10 1,0 — — — 8C32/13 110 0,70 la 32 52 490 2 | CPB BigMHUpaHHA Ta BCHXAHHS JIEpeB §
v 11 2.1 — — — 7C33/13 110 0,60 la 32 52 410 2 CPB BiaMUpaHHsA Ta BCUXaHHS JIepeB 9
1%} 12 2,6 — — — 10C3+/13 75 0,75 16 30 36 510 2 | CPB BiaMupaHHs Ta BCMXaHHS JepeB §_
é 13 0,2 — — — 8C32/13 120 | 0.60 1 3 56 390 2 | CPB BigMHpaHHs Ta BCUXaHHS JepeB e
E 14 0,2 — — — 10C3+5ne+/13 60 0,70 16 28 30 440 2 CPB BiaMUpaHHS Ta BCUXaHHS €PEB a
S 15 3,0 — - — 8C32/13 100 0,65 la 32 52 460 2 | CPB BigMupaHHs Ta BCUXaHHS JIepeB L
E 16 2.4 — — — 10C3+/13 65 0,75 16 29 32 490 2 | CPB BigMUpaHHA Ta BCUXAHHS JIEPEB Z
17 0,5 - - — 9C31/13 100 | 0,70 la 32 52 500 2 | CPB BiaMUpaHHs Ta BCUXaHHS J€peB 5
18 0,2 — — — 10C3+51ne 60 0,75 16 28 32 470 2 CPB BiaMupaHHs Ta BCHXaHHS JepeB ‘o
19 2,6 - — — 7C33/13 110 0,60 1 31 56 400 2 CPB BiiMupaHHS Ta BCHXaHHSA JepeB @g
20 2,8 — — — 10C3+/13 85 0,70 la 31 36 500 2 CPB BiaMuUpaHHs Ta BCUXaHHS JIepeB =
21 0,6 - — — 8C32/13 110 0,50 1 31 52 340 2 | CPB BigMupaHHs Ta BCUXaHHS JIEPEB 2
22 0,2 - - — 9C31/13 60 0,75 16 28 30 470 2 | CPB BigMUpaHHs Ta BCHXaHHs IEPEB .E
23 1,8 — — — 9C31/13 110 0,65 1 31 52 450 2 | CPB BigMupaHHs Ta BCUXaHHS JIEpeB 2]
24 2.7 — — — 9C31/13 80 0,75 la 30 36 490 2 | CPB BiaMupaHHs Ta BCUXaHHs JepeB
25 1,2 — — — 10C3+/13 100 0,60 la 32 52 450 2 CPB BiaMHpaHHsS Ta BCHXaHHS AepeB
26 0,3 — — — 9C31J13+51ne 60 0,80 16 28 30 480 2 CPB BigMupaHHs Ta BCUXaHHS JIepeB
27 2.2 — — — 9C31/13 110 0,60 la 32 52 430 2 CPB BigMupaHHS Ta BCHXaHHS J1IEpPeB
1 5,2 — — — 10C3K 70 0,80 10 29 36 530 2 CPB BiiIMUpaHHs Ta BCUXaHHS JiepeB
2 0,2 — — — 10C3 55 0,80 la 24 26 410 2 CPB BigMupaHHs Ta BCUXaHHS JepeB
3 1,1 — — — 10C3 64 0,80 16 29 32 530 2 | CPB BiaMupaHHs Ta BCUXaHHs JIEpEB
4 2.4 — — — 10C3 65 0,80 16 28 32 500 2 CPB BiaMUpaHHs Ta BCUXAHHS JIEPEB
S 2,2 — — — 10C3 80 0,75 16 32 40 560 2 CPB BigMupaHHs Ta BCHXaHHSA JIepeB
1 8,6 — — — 8C32/13 80 0,70 16 31 40 470 2 CPB BiAMHpaHHS Ta BCUXAHHS JIEPEB
6 3,7 — — — 10C3+/13 75 0,75 la 29 32 490 2 CPB BiMupaHHs Ta BCUXaHHS IEPEB
8 9.3 — - — 7C33/13 170 0,70 1 31 64 460 2 CPB BiaMKpaHHs Ta BCUXaHHs JIepeB
25 0,6 — — — 8C32/13 170 0,65 2 30 66 420 2 CPB BiaMupaHHs Ta BCUXaHHS JepeB
29 3,7 — — — 5C33/132C3 130 0,65 | 32 68 450 2 CPB BiaMupaHHS Ta BCHXaHHS JepeB
38 1,4 — — — 4C360c¢ 55 0,75 4 26 28 400 2 CPB BiAMHpaHHs Ta BCUXAHHS JIEpeB
33 2.4 — — — 10C3 80 0,75 la 30 44 510 2 CPB BiJIMHpaHHs Ta BCUXAHHS JICPEB

n



I 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
43 ] 35 2.1 — — — 9C31/13 85 0,55 16 32 56 400 2 | CPB BigMUpaHHs Ta BCUXaHHS JIEPEB 40
43 | 36 1.4 — — — 9C31/I3+Akb6 60 0,80 la 26 30 440 2 CPB BiagMupaHHs Ta BCHXaHHS JIepeB 35
43 | 37 0,3 — — — 10C3 80 0,70 16 32 52 520 2 CPB BigMUpaHHs Ta BCUXaHHS JepeB 25
43 | 38 1,1 — — — 10C3 65 0,75 16 28 30 470 2 | CPB BiaMupaHHs Ta BCHXaHHS 1epeB 40
43 1 39 0,6 — — — 6C34/13 140 0,55 2 29 60 330 2 CPB BigMHpaHHs Ta BCUXaHHS JEpeB 30
43 | 41 2,7 — — — 7C31131bnl Ak 80 0,70 16 31 44 430 2 CPB BiiMUpaHHs Ta BCUXaHHS JIepeB 40
43 | 42 0,7 — — — 7C31/132Ak6+bn 59 0,70 la 25 30 340 2 | CPB BiaMHpaHHS Ta BCUXaHHS JIepeB 30
43 | 43 1,0 — — — 6C34/13+Ak0 140 0,45 2 27 68 240 2 CPB BiaMHpaHHS Ta BCUXaHHS JiepeB 45
43 | 44 0.4 — — — 10C3 58 0,75 16 28 36 470 2 | CPB BijiMupaHHs Ta BCUXaHHS epeB 40
43 | 45 1,2 — — — 7C3313+Ak0 59 0,75 la 26 30 400 2 CPB BigMHpaHHs Ta BCUXaHHS JiepeB 30
44 | 17 4.4 — — — 10C3+bn+Ax6 70 0,75 10 29 40 490 2 CPB BigMHUpaHHs Ta BCUXaHHS JIepeB 35
44 1 19 1,7 — — — 7C33/13 60 0,75 la 26 32 390 2 CPB BiaMHpaHHs Ta BCUXAHHS JepeB 30
44 | 34 0,2 — — — 10C3+bn 60 0,80 la 25 32 430 2 CPB BisiMHpaHHs Ta BCUXaHHS JEPEB 35 °
44 | 35 0,3 — — — 9C31/13+Oc¢ 80 0,70 1 27 36 410 2 CPB BigMMpaHHs Ta BCUXaHHS JepeB 40 z
44 | 36 0,7 — — — 7C33/13 60 0,75 la 25 32 380 2 CPB BigMMpaHHs Ta BCUXAHHS JepeB 40 3
44 | 37 0,9 — — — 10C3+]/I3+AK0O 80 0,80 la 29 40 530 2 CPB BigMHMpaHHs Ta BCUXaHHS JepeB 3 g
44 | 38 2,1 — — — 7C3313+Ak6+bn 60 0,80 la 26 32 430 2 CPB BiaMHpaHHsS Ta BCHXaHHS JiepeB 40 :g
44 | 39 0,7 — — — 10C3 100 0,70 la 31 56 500 2 | CPB BiaMupaHHs Ta BCUXaHHS JIEPEB 40 T
44 | 40 1,5 — — — 7C333 60 0,75 16 27 32 410 2 CPB BigmupanHs Ta BCUXaHHS JepeB 25 =
= | 44 | 41 2.6 — — — 10C3+bn 100 0,55 1 30 56 380 2 CPB BigmupaHHs Ta BCHXaHHS JiepeB 40 z
E 44 | 42 0.6 — — — 8C32/13 60 0,80 la 26 28 470 2 | CPB BiaMupaHHs Ta BCUXaHHS JIepeB 40 %
@) 44 | 43 0,5 — — - 10C3+Ak6 100 0,55 1 30 56 380 2 | CPB BiaMupaHHs Ta BCUXaHHS /iepeB 35 =
oL 44 | 44 0,4 — — — 10C3 80 0,75 | 1la 30 40 510 2 | CPB BigMHpaHHs Ta BCUXaHHS JEpeB 40 =
5 44 | 45 0,4 — — — 10C3 100 0,70 la 31 56 500 2 | CPB BiaMupaHHs Ta BCHXaHHs JIepeB 30 =
2| 44 ] 46 29 — — — 7C3313 60 0,80 16 28 32 460 2 | CPB BigmupaHHs Ta BCHXaHHS 1epeB 40 8
= |44 | 47 0,5 — — - 9C31Ak0 80 0,65 la 28 48 390 2 | CPB BiaMHpaHHs Ta BCHXaHHA J€peB 35 =
= 45 1 9,7 — — — 8C32/13 120 0,60 1 30 60 400 2 | CPB BiaMupaHHs Ta BCUXaHHS JIepeB 30 e
45 2 3.2 — — — 10C3 120 0,40 2 28 56 250 2 | CPB BiaMupaHHs Ta BCHXaHHS JepeB 35 é
45 3 0,8 — — — 8C32/13 58 0,75 16 28 30 450 2 CPB BiaMHpaHHs Ta BCUXaHHS JIepeB 30 &
45 5 8.3 — — — 8C32/13 120 0,60 1 30 56 390 2 CPB BiaMupaHHs Ta BCMXaHHS J1IepeB 35 §
45 7 3.8 — — — 10C3+bn 60 0,75 16 28 30 470 2 CPB BigMHpaHHSA T BCUXAHHSA JEpEB 30 o
45 8 15,6 — — — 8C32/13 150 0,60 2 28 60 360 2 CPB BiAMUpaHHS Ta BCUXaHHS 1€peB 30 §
46 1 4,9 — — — 10C3 57 0.80 la 25 28 430 2 | CPB BigMupaHHs Ta BCUXaHHS JIEpeB 35 C%
46 | 2 25.5 — - — 9C31 /13 105 0,70 la 31 60 490 2 | CPB BigMHpaHHs Ta BCHXaHHA 1€PEB 30
46 3 2,7 — — — 8C32/13 140 0,60 2 30 60 380 2 CPB BigMupaHHs Ta BCUXAHHS JIEpeB 30
46 6 44 — — — 7C33/13 120 0,70 1 30 60 450 2 CPB BiaMupaHHs Ta BCUXaHHS ICPEB 40
48 | 14 8.5 — — — 8C32/13 100 0,70 la 33 48 510 2 | CPB BiMHpaHHs Ta BCUXaHHS JEpeB 35
48 | 15 3,9 — — — 10C3 85 0,75 16 32 36 560 2 | CPB BiaMupaHHs Ta BCUXaHHS JIepeB 35
56 1 4,1 — — — 10C3 70 0,70 2 20 26 280 2 | CPB BijMHpaHHs Ta BCUXaHHS JIepeB 28
56 2 0,4 — — — 10C3 48 0,70 1 18 20 280 2 CPB BigMHpaHHs Ta BCUXAHHS /iepeB 25
56 3 0,8 — — — 10C3 70 0,70 2 21 28 300 2 CPB BiaMupaHHs Ta BCUXaHHS 1epeB 16
56 4 0,5 — — — 10C3 48 0,75 2 17 20 240 2 CPB BiMUpaHHs Ta BCUXAHHS JiepeB 18
56 5 1,8 — — — 10C3 59 0,75 1 20 26 300 2 CPB BiaMupaHHs Ta BCHXaHHS JIepEB 25
561 6 1,7 — — — 10C3+Knc 48 0,70 1 18 20 240 2 | CPB BigMHUpaHHs Ta BCUXAHHS JepeB 25
56 7 0,6 — — — 10C3 54 0,85 | 20 24 340 2 CPB BiAMHpaHHS Ta BCUXaHHS JIEpeB 28
56 8 5,7 — — — 10C3 59 0,75 1 21 24 320 2 CPB BisMupaHHs Ta BCHXaHHs 1epeB 24
Pa3zom: 335,1
< 1 1 10,2 — — — 10C3+]13 60 0,7 16 27 32 420 2 | CPB BiaMupaHHs Ta BCHXaHHS Jepes 20 - & o
=1 2 49 — — — 10C3+/13 51 0,8 16 25 28 430 2 | CPB BiaMUpaHHs Ta BCUXaHHS jepeB 20 = 5 §_ 2 z
§ 1 3 5,7 — — — 9C31 13 60 0,8 la 26 32 440 2 | CPB BijMupaHHs Ta BCUXaHHS JepeB 135 2 e e g é
g 1 4 0,9 — — — 10C3+bn+Ak6 160 0,55 la 29 56 360 2 | CPB BigMupaHHs Ta BCUXAHHS AEpEB 15 «” cgz ng ]
= 1 8 [ (1) 5,6 5,6 10C3 51 0,75 10 26 28 430 2 CPB BiaMupaHHs Ta BCUXAHHA JlepeB 30 =
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2 4 8 9 10 11 12 13 14 15 16 17 18
1 6,2 10C3 57 0,7 16 26 32 400 2 CPB BiaMupaHHs Ta BCUXaHHS JEpeB 25
2 3,7 10C3 80 0,75 la 30 36 510 2 CPB BiMupadHs Ta BCUXaHHs AE€PEB 15
2 5.7 10C3+/I3+AKk6 64 0,7 la 27 36 420 2 | CPB BigMupaHHS Ta BCUXaHHS JEpEB 10
2 0,6 10C3 105 0,55 1 30 56 500 2 | CPB BiIMUpaHHs Ta BCUXaHHs [IEPEB 15
2 0,6 10C3+/13 95 0,7 la 31 44 350 2 CPB BigMupaHHs Ta BCHXaHHS JepeB 10
2 1,6 10C3 90 0,6 la 30 52 410 2 CPB BigMupaHHs Ta BCUXaHHS JIEpeB 20
2 0,6 10C3+/13 81 0,7 la 30 52 480 2 CPB BigMupaHHs Ta BCUXaHHS J€peB 20
2 1 10C3 100 0,65 la 31 56 460 2 CPB BigMupaHHs Ta BCUXaHHS J€pEB 20
2 0,5 10C3+/13 80 0,7 la 30 44 480 2 CPB BiMUpaHHs Ta BCUXaHHs AepEB 25
2 1,8 9C31/13 58 0,7 la 25 32 360 2 | CPB BiMipaHHs Ta BCUXaHHS epeB 25
2 0,7 10C3 62 0,7 16 27 36 420 2 CPB BigMupaHHs Ta BCUXaHHS JE€pPEB 20
2 0.4 10C3+/13 63 0,7 la 27 36 420 2 CPB BiaMHpaHHs Ta BCHXaHHS AepeB 20
2 5,1 10C3 65 0,7 la 27 36 420 2 | CPB BigMupaHHs Ta BCHXaHHS JIepeB 20
2 2.1 10C3 100 0,65 la 31 52 460 2 CPB BizMupanHs Ta BCHXaHHs IEpEB 20
2 1,9 10C3 65 0,7 la 27 36 420 2 CPB BigMupaHHs Ta BCUXaHHs JepeB 20
2 1,7 10C3 100 0,6 la 31 52 430 2 CPB BiaMupaHHs Ta BCUXaHHS JepeB 20
6 0.9 10C3+/13+Oc¢ 52 0,75 16 26 30 430 2 CPB BigMupaHHs Ta BCHXaHHS IE€PEB 20 2
6 3,6 10C3 51 0,75 16 26 30 430 2 CPB BiiMupaHHs Ta BCUXaHHS JiepeB 25 2
6 5,4 9C31/13 61 0,75 16 28 32 450 2 CPB BiAMHpaHHs Ta BCUXaHHs Je€peB 25 a
6 4,6 10C3+/13 52 0,75 16 27 28 480 2 CPB BiaAMHpaHHS Ta BCUXaHHS A€PEB 25 3
6 0,6 10C3+/13 95 0,7 la 31 44 500 2 CPB BiamupaHHs Ta BCUXaHHS JIepeB 20 e
6 18 9C31/13 60 0,75 16 28 36 450 2 | CPB BigMUpaHHs Ta BCUXaHHS IE€PEB 25 =
6 1,2 10C3 90 0,7 la 31 40 500 2 CPB BigMUpaHHs Ta BCUXaHHS E€peB 20 S
m | 6 1,6 10C3 90 0,7 la 31 44 500 2 | CPB BiaMupaHHs Ta BCUXaHHS JepeB 20 3
E 7 26,8 10C3 80 0,8 la 29 36 530 2 CPB BigMUpaHHs Ta BCUXaHHS IE€pEB 30 g
= 7 2.2 10C3 58 0,75 16 27 28 450 2 CPB BiaMupaHHs Ta BCUXaHHs 1E€PEB 25 =
=~ 7 1 10c3 90 0,65 la 31 44 460 2 CPB BiaMHpaHHs Ta BCUXaHHS JIE€PEB 25 g
E 9 1,5 10C3+/13 60 0,7 16 27 36 420 2 CPB BiaMupaHHs Ta BCUXaHHS AepeB 8 a
< 9 4,8 10C3 80 0,7 la 30 40 480 2 CPB BiaMHpaHHs Ta BCUXaHHS JE€PEB 10 .Q
N9 7.3 10C3 75 0,75 16 30 40 510 2 | CPB BiiMupaHHs Ta BCUXaHHS AepeB 10 Z
9 0,5 10C3 62 0,75 16 27 32 450 2 | CPB BigMupaHHs Ta BCUXaHHS JepeB 20 5
9 0,8 10C3 58 0,75 16 27 32 450 2 | CPB BigMupaHHs Ta BCUXaHHS AepeB 20 =y
9 7.9 10C3 80 0,7 la 30 40 480 2 CPB BigMupaHHs Ta BCUXaHHS AEpPEB 25 e
9 1,1 10C3 100 0,6 1 30 52 410 2 CPB BigMupaHHs Ta BCUXaHHS JepEB 25 g
9 6,1 10C3+/13+bn 62 0,7 la 26 32 400 2 CPB BigMMpaHHs Ta BCUXaHHS JEPEB 25 g
9 2.1 10C3+/13 62 0,7 16 28 32 460 2 CPB BiiMUpaHHs Ta BCUXaHHS AEPEB 20 .E
9 1,8 10C3+/13 100 0,6 1 30 56 410 2 | CPB BinMupaHHs Ta BCHXaHHS JepeB 20 o
9 2.3 9C31/13 70 0,7 16 29 44 430 2 | CPB BiaMupaHHs Ta BCUXaHHS JepeB 25
9 2,1 10C3+bn+/13 61 0,7 16 27 36 420 2 | CPB BiaMupaHHs Ta BCUXaHHS Jepes 20
9 1,3 10C3+bn 65 0,7 la 27 36 420 2 CPB BiaMUpaHHs Ta BCUXaHHS AE€PEB 20
9 1 10C3 100 0,55 1 30 52 380 2 CPB BiaMHpaHHS Ta BCHXaHHS JepeB 20
21 1 4.8 10C3+Ak0 75 0,75 la 27 30 450 2 CPB BiaMupaHHA Ta BCHXAHHS AepeB 3
21 2 0,2 10C3 54 0,75 16 27 32 450 2 | CPB BiaMupaHHs Ta BCUXAaHHS J€peB 25
21 3 0,2 10C3 51 0,65 16 25 30 350 2 CPB BiaMHpaHHsA Ta BCUXaHHS AepeB 25
21 4 0,1 10C3 49 0,7 16 25 28 380 2 CPB BiaMupaHHus Ta BCUXaHHs Jepes 25
21 5 33 10C3 75 0,75 la 29 32 490 2 CPB BiaMUpaHHsA Ta BCUXAHHS AepeB 35
21 6 0,5 10C3 90 0,6 la 30 48 410 2 CPB BigMHUpaHHS Ta BCUXaHHs AE€PEB 25
21 7 0,3 10C3 60 0,7 16 27 32 420 2 CPB BiMUpaHHs Ta BCUXaHHS JepeB 25
21 8 1.4 10C3 85 0,7 la 30 36 480 2 CPB BiaMupaHHs Ta BCUXaHHS AepeB 25
21 10 0,2 10C3 57 0,7 16 26 30 400 2 | CPB BiiMupaHHs Ta BCUXaHHS AEpeB 20
21 11 2,1 10C3 85 0,65 la 29 44 430 2 CPB BiaMupaHHs Ta BCUXaHHS JIepeB 30
21 12 1,9 10C3 62 0,75 16 27 30 450 2 | CPB BiamupaHHs Ta BCHXaHHS JepeB 30
21 13 3 10C3 80 0,8 la 30 36 550 2 | CPB BiaMUpaHHs Ta BCUXaHHS JEpeB 40




| 2 3 4 8 9 10 11 12 13 14 15 16 17 18 19

21 | 14 0,7 10C3 70 0,7 16 29 36 460 2 | CPB BisMupaHHs Ta BCHXaHHS JepeB 30

21 | 15 1,1 10C3 62 0,75 la 26 32 430 2 | CPB BiaMupaHHs Ta BCUXaHHS JIepeB 30

21 16 1,3 10C3 95 0,6 la 31 44 430 2 CPB BiMUpaHHs Ta BCUXaHHS JEpEB 30

29 1 0,3 9C31AkO 75 0.70 la 27 36 400 2 CPB BiaMUpaHHs Ta BCUXaHHA JepeB 25

29 2 0,6 10C3 58 0,75 16 26 30 430 2 CPB BiaMupaHHs Ta BCUXaHHS JIepEB 30

29 4 0,3 10C3 55 0,75 la 24 28 390 2 CPB BiaMupaHHs Ta BCUXaHHg Jepes 15

29 5 21,5 10C3 70 0,75 16 29 36 490 2 CPB BiaiMuypaHHs Ta BCUXaHHS 1E€pEB 35

29 6 1,3 10C3 75 0,7 la 29 36 460 2 CPB BiaMupadHs Ta BCUXaHHg JepeB 30

29 7 0,9 10C3 62 0,7 la 26 28 400 2 | CPB BinMupaHHs Ta BCHXaHHS JIepeB 25

29 8 0,4 10C3 70 0,5 16 29 36 330 2 CPB BigMupaHHs Ta BCHUXaHHS JepeB 20

29 | 10 7 10C3 75 0,75 la 28 32 470 2 CPB BiaMupaHHs Ta BCHXaHHS J€PEB 25

29 | 11 1,1 10C3 66 0,7 16 29 36 460 2 CPB BiamupanHs Ta BCUXaHHS Jepes 25

29 | 12 X 10C3 56 0,7 la 24 30 360 2 | CPB BinmupaHHs Ta BCUXaHHS Jepes 25

29 | 13 1 10C3 80 0,75 la 29 36 490 2 | CPB BiaMupaHHs Ta BCUXaHHS JepeB 30

29 | 14 0,5 10C3 56 0,75 16 25 30 410 2 | CPB BiaMupaHHs Ta BCHXaHHs Jepes 25

47 | 1,5 10C3 55 0,7 18 28 32 440 2 | CPB BinMupaHHs Ta BCUXaHHS JepeB 20
47 2 7 10C3+Oc+bn+Bp6 70 0,75 16 30 36 510 2 CPB BizMupaHHs Ta BCUXaHHS J€PEB 20 g
47 3 14,8 10C3+Oc+bn+0c¢ 60 0,7 18 30 36 480 2 | CPB BiamMupaHHs Ta BCHXaHHS JEpEB 20 e
47 4 0,6 8C32bn 80 0,7 la 30 40 440 2 | CPB BiaMupaHHs Ta BCUXaHHS IE€pEB 20 a
47 7 1,9 10C3 52 0,8 10 27 30 480 2 CPB BiaMupanHs Ta BCUXaHHS AepeB 20 3
47 8 0,2 4C34bn20c¢ 48 0,65 Ir 28 32 310 2 | CPB BiamupanHs Ta BCUXaHHs Jiepes 20 L
47 9 0,8 10C3 50 0,75 16 28 32 460 2 CPB BiaMupaHHs Ta BCUXaHHS JepeB 20 -
47 | 11 3 10C3+bn 60 0.7 16 29 36 460 2 | CPB BiaMupaHHs Ta BCUXaHHS 1epeB 25 z
Hi47] 12 0,6 10C3 105 0,55 1 29 48 360 2 | CPB BiamMupaHHs Ta BCUXaHHA J€pes 25 a
§ 47 | 13 0,2 10C3 90 0,55 1 29 44 360 2 CPB BiaMupaHHs Ta BCHXaHHS JIEPEB 15 g
=147 ] 14 10,3 10C3 100 | 0,55 1 30 44 380 2 | CPB BiamupaHHs Ta BCUXaHHS J€peB 20 =
= | 47 15 0,8 10C3 75 0,7 10 30 44 480 2 CPB BiaMupaHHs Ta BCUXaHHS JEpEB 25 g
E 47 | 16 2,5 10C3 70 0,7 16 29 36 460 2 CPB BiaMupaHHs Ta BCUXaHHS Jepes 25 2
< 47 | 17 1,4 10C3 100 | 0,55 1 30 44 380 2 | CPB BiaMupaHHs Ta BCUXaHHSA AEpEB 15 R
= 47 | 18 0,6 10C3 55 0,7 16 27 30 420 2 CPB BiaMupaHHs Ta BCUXaHHSA 1epes 20 Z
47 | 19 0,2 10C3 50 0,75 16 25 30 410 2 | CPB BigMMpaHHsA Ta BCUXAHHS €pEB 15 5
47 1 20 0,8 10C3 80 0,65 la 30 44 450 2 CPB BigMupaHHs Ta BCHXAHHS 1epeB 25 a
47 1 21 2.6 10C3 50 0,7 16 26 30 400 2 | CPB BinMupaHHs Ta BCUXaHHS Jepes 25 E
47 | 22 3,6 10C3 60 0,7 16 27 32 420 2 CPB BiaMupaHHs Ta BCUXAHHS JIEPEB 25 =
47 1 23 1,1 10C3 56 0,7 16 27 32 420 2 | CPB BigMupaHHs Ta BCHXaHHS JIepeB 15 :O:
47 | 24 4.5 10C3+/13 68 0,6 106 30 40 480 2 CPB BiaMupanHs Ta BCUXaHHS AepeB 15 .E
47 | 26 0,6 10C3 50 0,7 16 26 30 400 2 | CPB BiamupaHHs Ta BCUXaHHS JepeB 15 o

47 | 27 3,5 10C3 60 0,7 16 28 32 440 2 CPB BiaMupaHHs Ta BCUXaHHS JIEpeB 25

47 | 29 0,2 10C3 100 0,5 1 30 40 340 2 | CPB BiaMUpaHHs Ta BCUXaHHS JEpPeB 15

48 2 0,2 10C3 50 0,75 16 25 32 410 2 CPB BiaMupaHHs Ta BCUXaHHS J€pPEB 20

48 4 1,3 10C3 50 0,75 16 26 28 430 2 CPB BiaMUpaHHs Ta BCUXaHHS JE€pEB 20

48 5 0,7 10C3 50 0,7 10 25 30 380 2 CPB BiaMHpaHHs Ta BCHXaHHS JepeB 20

48 | 12 4,9 10C3+bn 48 0,75 16 26 28 430 2 CPB BiaMupaHHs Ta BCUXaHHS JEPEB 20

48 13 0,4 10C3 50 0,75 16 25 28 410 2 CPB BiaMupaHHs Ta BCUXaHHs JepeB 20

48 [ 15 0,4 10C3 59 0,75 la 26 30 430 2 | CPB BinmupaHHs Ta BCUXaHHS Jepes 20

48 | 16 1,1 10C3 59 0,85 la 26 30 480 2 CPB BiaMupaHHs Ta BCUXaHHS J€peB 20

48 17 0,8 10C3+bn 80 0,65 la 28 44 410 2 CPB BiiMUpaHHs Ta BCUXaHHS J1€pPEB 20

48 18 0,4 8C31bnl1O0c¢ 50 0,7 10 25 28 360 2 CPB BiagMupaHHs Ta BCUXaHHS JepeB 20

48 | 24 1,2 10C3 55 0,85 16 27 32 510 2 | CPB BiaMupaHHs Ta BCHXAaHHS JepeB 20

48 | 26 0,8 10C3 51 0,7 10 26 32 400 2 CPB BiamupaHHs Ta BCUXaHHS A€pEB 20

48 | 27 0,3 10C3 60 0,75 16 29 36 490 2 CPB BiaMupaHHst Ta BCUXaHHS Aepes 20

48 | 28 0,5 10C3+bn 75 0,75 la 29 36 490 2 CPB BisMupaHHs Ta BCUXaHHS J€pEB 20

49 2 0,7 10C3 51 0,75 10 26 28 430 2 | CPB BiiMupaHHs Ta BCUXaHHS JIepeB 25




1 2 3 4 5 8 7 8 9 10 11 12 13 14 15 16 17 18 19
49 3 8 — — - 10C3 3 0,8 16 28 32 500 2 | CPB BiaMUpaHHs Ta BCUXaHHS JepeB 25 2

49 4 0,1 — — — 10C3 50 0,8 16 26 30 460 2 CPB BiaMupaHHs Ta BCHXaHHS JIepeB 25 e

49 5 0,1 - - — 10C3 50 0,7 16 26 28 400 2 | CPB BigMUpaHHs Ta BCUXaHHS JIepeB 25 a

49 8 0,4 — — — 10C3 51 0,75 16 25 28 410 2 CPB BiaMupaHHs Ta BCUXaHHS JIEpeB 25 3

49 |1 10 0,2 — — — 10C3 58 0,7 16 28 32 440 2 CPB BiaMupaHHs Ta BCUXaHHS JIepeB 25 2

49 | 12 3,7 — — — 7C32bn10c+Kic 50 0,75 16 26 28 390 2 CPB BiaMupaHHs Ta BCUXaHHS JepeB 25 =

49 | 13 0,3 — — — 10C3 58 0,7 I 29 32 460 2 CPB BiaMupaHHs Ta BCUXaHHS JIEpeB 25 £
H149 ] 15 0,4 — — — 9C31Kuic 48 0,7 1B 26 28 390 2 CPB BiaMHpaHHS Ta BCHXaHHSA AEpEB 25 2
E 49 16 5 — — — 10C3 70 0,75 16 29 32 490 2 CPB BiaMupaHHg Ta BCUXaHHS AepeB 25 g
=149 |24 18 — — — 10C3 73 0,7 la 29 36 460 2 | CPB BiaMupaHHs Ta BCUXaHHS JIEpeB 25 =
=149 ] 32 1,6 — — — 10C3 58 0,7 18 29 36 460 2 | CPB BiaMupaHHs Ta BCHXaHHS JepeB 25 e
= [(128] 7 3.8 — — — 10C3 65 0,8 la 27 32 480 2 | CPB BisiMupaHHs Ta BCUXaHHs JIEPEB 15 a
: 128 | 11 0,3 — — — 10C3 S5 0.8 16 27 30 480 2 | CPB BisiMupaHHs Ta BCHXaHHS /IepeB 15 .Q
=128 12 0,2 — — — 10C3 55 0,6 16 26 30 340 2 | CPB BigMHUpaHHs Ta BCUXAaHHA JEpeB 15 z
128 | 13 3,9 — — — 10C3 70 0,75 la 27 32 450 2 | CPB BiaMHpaHHs Ta BCUXaHHS JEpeB 15 5

128 | 15 0,9 — — — 10C3 52 0,7 16 25 32 380 2 | CPB BigMupaHHs Ta BCHXaHHs J€peB 15 o

128 | 16 2,1 — — — 10C3 65 0,75 la 27 32 950 2 | CPB BigMupanHs Ta BCUXaHHs J€pEB 15 E

129 | 21 29 — — — 10C3 62 0,7 la 26 32 400 2 | CPB BiaMupaHHs Ta BCHXaHHS 1epes 15 s

1351 38 0,3 — — — 10C3 55 0,75 16 26 30 430 2 | CPB BiaMupaHHs Ta BCUXaHHA JIEpeB 15 g

1351 39 1,5 — — — 10C3 65 0,75 16 28 32 470 2 CPB BigMupaHHs Ta BCUXaHHS JIEpEB 15 .E

135{ 40 0,5 — — — 10C3 80 0,6 la 29 40 390 2 | CPB BiaMupaHus Ta BCHXaHHS JEpEB 15 <)

Pazom: 385,8
BCbHOI'O : 1873,0
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